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1 Introduction
It has been agreed in SA2 when the UE is camped on a E-UTRAN cell, the APN-AMBR could be provide to the UE in the UE requested PDN connectivity procedure or PDN‑GW initiated bearer modification procedure, and if the UE is camped on a GERAN/UTRAN cell, the APN-AMBR should not be provide to the UE.
And in current SA2#72, the S2-092941 proposed by Vodafone has been approved. It has been agreed that the UE shall store the APN-AMBR when moving from E-UTRAN to GERAN/UTRAN, and, the PDN GW should remember whether or not the PDN GW has informed the UE of the current APN-AMBR. If the APN-AMBR has been provided to the UE, the P-GW should not initiate another bearer modification procedure without bearer QoS update in order to provide the APN-AMBR to the UE when moving from GERAN/UTRAN to E-UTRAN.
In follow scenarios, there will be some problems:

 Scenario 1：
When the UE which has been camped on a GERAN/UTRAN cell before reselecting to E-UTRAN the first time, it should trigger a TAU procedure. And, after this TAU procedure the P-GW may initiate bearer modification procedure in order to provide the APN-AMBR to the UE. If ISR has been activated in this TAU procedure, however according to the ISR principle, the ISR is deactivated in the UE due to the previous PDN‑GW initiated bearer modification procedure. It causes unsynchronized state information in the UE, MME and SGSN. When the UE return to a GERAN/UTRAN cell, it should initiate a RAU procedure which reduces the performance of ISR.
So, the mechanism of providing the APN-AMBR to the UE in LTE has caused kickback to the performance of the ISR.   

Scenario 2：

In the bearer modification procedure without bearer QoS update, the P-GW can provide the APN-AMBR to the UE , if ISR is activated and UE is not in EMM‑CONNECTED state, READY or PMM CONNECTED state, according to the existing mechanism, the ISR associated SGSN and MME would send a Paging message to the UE. 
Upon reception of paging indication in E-UTRAN access, the UE initiates the UE triggered Service Request procedure, then, the MME could provide the APN-AMBR which is received from S-GW/P-GW to the UE. So everything is fine in this case.
But upon reception of paging indication in UTRAN or GERAN access, the MS will respond in respective access as specified TS 24.008 and the SGSN shall notify the S‑GW. However, the APN-AMBR can not be provide to the UE when the UE is camped on GERAN/UTRAN cell. So, after the accomplishment of this bearer modification procedure, the P-GW may think the APN-AMBR has been provided to the UE, but actually it is not. Of cause, when the UE returns to the E-UTRAN cell, the P-GW will not initiate the bearer modification procedure providing the APN-AMBR to the UE again.  That is to say, the APN-AMBR in the UE is still the old one which may lead to some unexpected result in the UE.
From the introduction of this two scenarios above, this issue is mainly about the transmission of the APN-AMBR IE to the UE, so it is more stage 3 based.
This paper discusses two potential solutions to resolve the above issues.
2 Discussion
Option 1:
When the UE which has been camped on a GERAN/UTRAN cell before reselecting to E-UTRAN the first time, it should trigger a TAU procedure. In this TAU procedure, the APN-AMBR can be included in the TAU Accept message sending to the UE, the P-GW do not need to initiate the bearer modification procedure in order to provide the APN-AMBR to the UE.  So long as the APN-AMBR stored in the MME is correct, the UE can always be synchronized.
Option 2:
The APN-AMBR can be provided to the UE when the UE is camped on the GERAN/UTRAN cell in the PDP context activation procedure or PDP Context Modification procedure. 
3 Conclusion

It is proposed to have a detailed discussion on above issues to make a conclusion. Then we can draft a CR according to the agreement. The option 1 has been discussed in SA2 before, and it has been discarded by SA2, so we recommend that the option 2 is an optimization scheme.
If CT1 can agree this conclusion, Huawei can draft a LS to SA2 to clarify this issue.
